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QUESTION 1

By default, which type of servers run under shared credentials?

A. Stored process server and workspace server

B. Workspace server and pooled workspace server

C. Pooled workspace server and stored process server

D. Stored process server, workspace server, and pooled workspace server

Correct Answer: C

QUESTION 2

For metadata library connections to an RDBMS, which statement is true?
A. Security is only applied if the library is pre-assigned.

B. Security can be applied only in the RDBMS.

C. Security can be applied only in SAS metadata.

D. Security can be applied in SAS metadata and in the RDBMS.

Correct Answer: D

QUESTION 3

A platform administrator wants to physically segregate the physical storage for metadata in a single environment.

What should the platform administrator create?
A. additional foundation repositories

B. additional custom repositories

C. additional project repositories

D. additional repository libraries

Correct Answer: B

QUESTION 4

Which statement is a disadvantage of pre-assigned libraries?

A. The server does not become available to the user until all pre-assigned libraries have been assigned.
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B. Pre-assigned libraries must be identical across all SAS client applications.
C. Pre-assigned libraries must be assigned using the autoexec file.
D. The administrator cannot control which engine is used to access data in a pre-assigned library.

Correct Answer: B

QUESTION 5

When you use a connection profile and the SASSEC_LOCAL_PW_SAVE option is set to Y, which pieces of information
is it possible to save?

A. User ID

B. Password

C. User ID and Password

D. No information can be saved

Correct Answer: C

QUESTION 6

A host is using an LDAP provider as a back-end authentication mechanism. For this setup, how does the SAS server
view the authentication?

A. integrated authentication
B. host authentication

C. internal authentication
D. back-end authentication

Correct Answer: B

QUESTION 7

In most deployments of the Platform for SAS Business Analytics, which type of access requires passwords for external
accounts to be stored in the metadata?

A. seamless access to the SAS datasets
B. seamless access to SAS OLAP cubes
C. seamless access to external databases

D. all of the above
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Correct Answer: C

QUESTION 8
Given the following authorization setup:

-Mary is a direct member of DeptA and DeptB

Library Sales2 has an explicit RM denial for DeptA.

Library Sales2 has an explicit RM grant for DeptB. Which statement is true?
A

Mary can see Library Sales2.

B.

Mary cannot see Library Sales2.

C.

Mary can see Library Sales?2 for data associated withDeptB only.

D.

Mary can see Library Sales?2 for data flagged as PUBLIC only.

Correct Answer: B

QUESTION 9

An identity hierarchy specifies a list of identities and the order of precedence of those identities. Which listing of

identities is ranked from highest priority to lowest priority?
A. direct group, indirect group, User, PUBLIC, SASUSERS
B. User, SASUSERS, PUBLIC,directgroup, indirect group
C. SASUSERS, PUBLIC, User, direct group, indirect group
D. User, direct group, indirect group, SASUSERS, PUBLIC

Correct Answer: D

QUESTION 10
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A user needs to access data in a cube. The user has the following characteristics: Is in Enterprise Guide: OLAP role
Does not have Read and ReadMetadata permissions for the cube.

What will be the result when the user attempts to access data in the cube?

A. The user will be able to access the data since Read andReadMetadata permissions are not required.
B. The user will be able to access the data since they are using Enterprise Guide.

C. The user will be able to access the data since they are in the OLAP Role.

D. The user will not be able to access the data.

Correct Answer:

QUESTION 11

Which role is not pre-defined?

A. Enterprise Guide: Unrestricted
B. Enterprise Guide: Advanced

C. Enterprise Guide: Programming
D. Enterprise Guide: OLAP

Correct Answer: A

QUESTION 12

A host is using an LDAP provider as a back-end authentication mechanism. For this setup, how does the SAS server
view the authentication?

A. integrated authentication
B. back-end authentication
C. internal authentication
D. host authentication

Correct Answer: D

QUESTION 13
A platform administrator needs to register OLAP cubes. What permission levels are required for this task?
A. CM for the target folder andWMMfor the OLAP schema.

B. WM for the OLAP schema and RMLE for the target folder.
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C. WM for the target folder and WMM for the OLAP schema.
D. WM for the OLAP schema and WMM for the target folder.

Correct Answer: D

QUESTION 14

If a server or spawner is failing to start, what would be the most appropriate first step in troubleshooting the cause of the
failure?

A. Run the SAS Deployment Manager to reconfigure the servers.
B. Modify the SAS Server configuration files.

C. Copy the command line used to invoke the server and issue it directly in the operating system, noting any errors or
information generated.

D. Use SAS Management Console to modify the server\\'s configuration.

Correct Answer: C

QUESTION 15

A platform administrator has converted the standard workspace server to use SAS Token Authentication in a mixed
provider environment.

What will be the outcome of this conversion?

A. Credential caching will be used to provide access.

B. Windows andUnix servers will have aligned authentication providers.
C. Host access by individual accounts will be provided.

D. Seamless access will be provided.

Correct Answer:
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